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TR24FE6 A REE
BI(X)%  |tHE%| 3B % N BT (X) % HEH| B = N BT (X) % HEH| 5 % Hi BT (X) % HEH| B % N BT (X) % HEH| 5B % i

2 HET 47 63 63 126 |7k SET 151 225 267 492 |1 X 297 367 386 753 | =HET 64 109 114 223 |RE 89 125 144 269
rh T 28 36 44 80 R SHT 224 337 293 630 |2 294 379 395 774 | SEBAHET 42 64 65 129 | RBHT 48 72 89 161
$HRET 44 51 55 106 | L% HHAT 95 142 176 318 |3 46 47 54 101 |45 T ET 33 54 54 108 |75 Fr{RET 35 69 73 142
HEET 82 106 101 207 |$&KHET 24 50 39 89 |dt = MHET 541 772 823 | 1,595 |{RIE3FHT 20 43 45 88 |{HZ 2T 14 27 32 59
FaHHT 90 112 133 245 | HET 26 35 38 73 |FAHET Al 113 104 217 |¥E BT 82 119 117 236 | L EHET 18 26 22 48
REHT 43 54 59 113 |H& SHT 55 90 83 173 | Fr#sET 82 136 123 259 [EATHET 186 248 259 507 | & HET 37 55 65 120
R RIFET 259 367 366 733 |t8 2 188 289 289 578 |EH—TH 77 101 109 210 |&ZET 53 66 61 127 | {RET 60 83 89 172
J\BTET 12 16 17 33 |V EHET 89 141 150 201 |EEW=TH 98 116 150 266 |+ BET 112 135 124 259 | HET 35 75 66 141
m A ET 20 31 47 78 |7KEHT 63 92 103 195 |#EH=TH 101 113 142 255 |{EHLET 437 564 558 1,122 | R EET 61 95 107 202
A RIET 24 34 47 81 |{EHnHET 14 24 26 50 |EHMT B 149 186 220 406 | R THET 49 68 77 145 | Rt EHET 21 38 53 91
R—&HT 30 36 35 ARE=IIE s 321 430 407 837 |EWMATH 79 115 113 228 |FEAK 152 195 200 395 (&) ST 39 57 72 129
R HHT 79 81 95 176 (28R —TH 196 266 269 535 |RLFE X 44 63 51 114 |RBMX 122 17 158 329 |#EAHET 34 54 55 109
H=HAT 25 27 35 62 |fREBTEX 59 94 103 197 |TRK—TEB 151 226 244 470 |FIEMX 153 199 223 422 |lLEB—TH 60 76 93 169
BIA\VER 452 553 596 | 1,149 |BJIHIX 5t 1505 | 2215 | 2243 | 4,458 |[HR=TH 192 268 288 556 |5 TUET 3R X 75 101 100 201 ([lLBE&B=TH 87 133 132 265
iAW S =8 99 121 139 260 | THAEFET 90 131 128 259 |HiA=TH 159 231 236 467 | ==MT 131 172 178 350 ([lLEB=TH 88 125 132 257
M/I\YER 233 317 326 643 | T EAHEET 64 103 90 193 |#FAKmT B 126 212 219 431 |BEE—TH 56 80 70 150 (ILB&METH 133 125 161 286
AWES 1) 204 224 249 473 |/N BT 21 36 36 72 [hEX—TE 145 190 196 386 |HFEA=TH 119 145 177 322 (lLEBETH 86 139 147 286
#rEET 456 688 724 | 1,412 | EAAEFET 62 89 95 184 [P =TH 200 297 320 617 |=EHT 93 144 124 268 [ILEBATH 109 172 159 331
BRET 17 22 18 40 FFaEFET 68 97 89 186 |4k FKET 93 110 129 239 |PEAMIX 5t 1,979 | 2677 | 2,704 | 5381 |UEHX 5t 1,054 | 1,546 | 1,691 3,237
YR ET 12 10 16 26 |BEFIMIX 5 305 456 438 894 [t ZEAE —TH 115 177 198 375 |EAAET 158 219 210 429 [FRER—TH 138 185 196 381
ERATX 18 20 27 47 || ILET 91 138 156 294 | RHEFE_TH 133 194 233 427 | L= O 52 83 87 170 | FRER=-TH 96 136 112 248
FETET 19 23 33 56 |HAAHT 145 203 228 431 |BEtX 5t 3193 | 4413 | 4733 | 9,146 |45 FHT 92 130 126 256 [FRER=TH 149 190 200 390
HEET 94 105 13 218 |4 [EET 222 267 301 568 |fESLET 196 276 320 596 | AEET 194 309 322 631 [FREFRMTH 159 220 226 446
FEAHET 555 759 751 1,510 |t BHET 66 95 115 210 [RAANIX 88 120 133 253 |45 4L ET 31 58 58 116 | FRERAETH 127 169 179 348
JHER1R 101 113 119 232 |FAI3RRE SET 16 23 22 45 |h#g)IIX 56 75 100 175 |Z SLET 82 115 138 253 | FREEATH 157 232 250 482
EER2X 194 254 268 522 | K SLET 24 43 41 84 |EAHJIIX 42 72 76 148 | &l ET 119 174 176 350 [FHREFE—TH 128 169 172 341
JEHEARIX 62 61 77 138 [ EREX 69 69 93 162 | 481137 ET 119 177 193 370 |ERET 52 90 94 184 [FREB_TH 139 188 182 370
JEHER4X 190 286 267 553 | %M —TH 135 209 212 421 | FHFET 18 33 44 77 | EHBET 16 24 31 55 | FREB=TH 129 183 187 370
JLHEARSX 322 428 443 871 |EEX &t 768 | 1,047 | 1,168 2,215 |EIFHMX  F 519 753 866 1619 |#F(F—TH 89 131 127 258 | FREBNTHE 100 129 143 272
JLHEAKR6X 189 245 246 491 |'Z{RET 123 164 210 374 |’ KHET 410 611 591 1,202 |#F1F=TH 54 80 71 151 | FREBRTH 135 166 167 333
ANBEZTH 148 178 177 355 | EiAIRX 9 13 15 28 |'=E kAT 353 514 539 | 1,053 |#FIE=TH 66 91 102 193 | FREFBEATH 135 182 197 379
HE—TH 84 105 104 209 |HRX 9 15 17 32 |{REHET 43 70 78 148 |#FIFWTH 100 141 134 275 | FREFBLTH 176 242 265 507
E=_TH 99 121 142 263 |BHX 9 13 13 26 |'= sk HHT 61 91 106 197 [#FIFRTH 65 94 96 190 (FHREFE/N\TH 115 144 155 299
HE=TH 92 111 129 240 [3E{LET 41 56 71 127 | {RET 37 57 53 110 |#FIFATH 69 85 88 173 | FREM—TH 107 155 158 313
Hm—T8H 92 107 119 226 |t ERET 22 32 30 62 |/\EFHT 48 75 81 156 |B&E—TH 94 144 132 276 [FHREE_TH 146 218 216 434
AH_TH 116 150 192 342 |\ ET 39 53 68 121 |J\ERET 116 185 194 379 [BEK=TH 55 72 81 153 | FREFHOX 5| 2,136 | 2,908 | 3,005 5913
BE—TH 72 84 100 184 |_E/MIET 37 42 64 106 | —iFHT 59 70 83 153 | McpitiX 5t 1,388 | 2,040 | 2,073 | 4,113 |%afT 109 139 156 295
EB-TH 109 152 140 292 |2 #AET 31 39 49 88 | & ERHET 151 220 240 460 |1#;TET 359 511 502 | 1,013 [ERAHET 93 113 125 238
XE—TH 126 143 158 301 | E{RHFET 101 166 168 334 |REXHEX 345 515 496 | 1,011 |HBIEHT 101 164 163 327 |FHFAET 91 127 122 249
ZXE-TH 89 143 140 283 B4R 79 106 109 215 [EKHX 167 235 244 479 |EEFHET 317 434 397 831 |FHM—THE 104 129 125 254
KELE—TH 152 182 201 383 |=RHET 61 96 89 185 |#FEE X 113 159 150 309 |HFET 337 510 483 993 | =TH 72 82 87 169
KEZTH 57 63 72 135 |BRHMX § 561 795 903 | 1,698 |—1F#HX 198 289 261 550 |#pHEX &t 1114 | 1619 | 1545| 3,164 |F#W=TH 65 92 95 187
#%—TH 63 72 77 149 |’= HLET 125 211 216 427 |HIVEE—TH 74 98 102 200 EPatg 69 104 90 194
BH=-TH 56 68 79 147 | KK BT 84 128 147 275 |HSVEE=TH| 108 140 149 289 REREHET 89 124 115 239
#H=TH 17 29 30 59 [AFX 113 148 186 334 | HIVEHE=TH 74 95 99 194 FaRiREFET 76 95 98 193
BX—TH 116 171 189 360 (FHE—TH 150 131 189 320 |HSVHESEMTH| 116 172 154 326 BERHFE—TH 64 87 91 178
BER=TH 10 13 12 25 |RMHAR-TH 60 77 77 154 |J)\BHFE 82 120 131 251 EERX 66 64 80 144
BHXAETH 97 116 137 253 | KKFHEX 77 113 121 234 |BHIX 5t 2555 | 3716 | 38,751 7,467 DB X &t 898 | 1,156 | 1,184 2,340
BHXATH 52 69 75 144 |FH AR 122 179 179 358

BXtTH 108 129 152 281 (R FHPFE 44 64 74 138 MEDIE 5 24,846 | 34,317 | 35927 | 70,244
ABH*/IN\TH 103 143 149 292 [FFHHEMEX 40 61 50 11

BRATH 1 1 4 5 (FFHERX 188 261 288 549

BX+TH 9 10 9 19 |—AMIX 5t 1,003 | 1,373 | 1527 | 2,900

MME#X 5t | 5868 | 7,603 | 8096 | 15,699
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FER245F6 A RBHE
BT (X) £ HEH| B X g BT (X) £ HEH| B X g BT (X) £ HEH| B X g BT (X) £ HEH| B X g BT (X) £ R 5 x N

=)IIFRTE 36 38 45 83 [/\bEHT 143 181 205 386 YR AET 115 163 176 339 [(ATAETHE 44 68 88 156 |[iEHT 45 A 77 148
EJNE=1E 147 223 240 463 |==HT 50 76 85 161 | iR A ET 222 268 301 569 |;a] RETITE 38 46 52 98 |4 A ErET 22 36 43 79
EJNEtrid] 36 51 54 105 |9 ILET 207 309 337 646 |E;EFHET 205 335 351 686 |:AINETEMRE 105 146 174 320 [773—)LE# 28 49 44 93
EJNEST: 115 146 175 321 | EHT 51 87 85 172 |BAX—THE 100 150 152 302 [(AINETEYDE 53 75 79 154 | & BT 61 88 113 201
=JIdLETE 32 47 50 97 (RIE LLET 45 79 7 150 |&iEFHET 4 63 60 123 |FAINETS LAY R 55 80 72 152 | & RET 40 48 45 93
EJNE4: e 39 44 53 97 |—/SHIX 5t 496 732 783 | 1,515 |RE&E A AT 36 66 66 132 AT R ET O EE 15 25 27 52 | T ErHT 44 77 81 158
EJNER:ri] 44 56 61 117 |EER S HT 113 116 113 229 |FEEAT 56 87 87 174 [ATNEBT R EE 3 2 6 8 | LEFET 99 168 177 345
£ )IIFTETR 35 41 47 88 |ERSRHTHT 93 124 131 255 |$ EET 146 228 234 462 |;A]ETELjth 5 5 6 1 | =3RET 32 51 55 106
EJNEI R ad: i i 57 70 76 146 |EBRAET—TH 29 40 46 86 |BAImMTH 177 258 268 526 |AINET AR 20 31 44 75 | THE 25 24 35 59
E)IKAHTR 28 30 40 70 (BBRART—TH 32 4 49 9 |BX=TH 115 141 150 291 [FAINETIR & 9 9 11 20 | EHE 19 29 29 58
XS5BT 36 31 46 77 |BEAXRET=TH 40 62 73 135 | N5 FFHT 107 156 161 317 | NETHRE 17 20 18 38 | A= HT 63 84 99 183
EJNE 152 191 218 409 |#BSRAHRTENT B 188 260 267 527 | & AHET 154 231 242 473 | NET &M 5 4 3 7 B HET 16 27 29 56
EJNEGES: i 46 47 57 104 |E5REH A BT 154 177 220 397 |EAEFHET 93 155 159 314 [(AINET T 4 2 2 4 (R F&ET 51 50 48 98
EJNE:E 73 104 104 208 |E83k;HIRET 111 143 147 290 |BAEFERET 79 98 109 207 | NETAE 20 23 20 43 | #FEKET 27 36 42 78
X)IERTE 84 96 125 221 |E83k £ 3RHET 37 40 46 86 | &8 A EHET 88 116 106 222 SOAbiE &t 393 536 602 | 1,138 |iEEHET 18 21 27 48
EJNR e 101 137 135 272 |EBK T RHET 31 35 42 77 | ESFET 310 439 427 866 | THE 64 89 101 190 | ZC HLET 15 14 13 27
EJNE N ] 40 49 59 108 |EEk BEE 34 50 50 100 |#rEB A EET 34 45 38 83 | LHEH 97 105 139 244 | =Y #EHET 5 1 4 5
EJNEIN:IES 87 90 94 184 |EE R AN=FHET 176 219 253 472 |[MIIX Bt 2078 | 2999 | 3087 | 6,086 |k DE 55 83 72 155 | Sk RHET 3 3 2 5
EJNEP:4a i 190 269 281 550 |#BRHET 82 101 124 225 B RET 179 263 290 553 [{ER 18 36 37 73 |FAISFET 11 10 11 21
=)1IFRETR 208 256 291 547 |#B3RIKFHET 32 37 43 80 |FOET 124 183 214 397 | KFME 15 - 15 15 |E+AHET - - - -
E)IHX 5t | 1,586 | 2,016 | 2,251 4,267 |#BR KEHT 205 261 272 533 [ K/THET 56 82 86 168 |#EiK 37 28 43 71 | MR ET 2 2 - 2
REHT 270 364 419 783 |EBR K E FHET 63 108 108 216 |BAi% SHET 19 26 31 57 |HIR 37 63 51 114 | Eptth T 1 - 1 1
FHy BT 252 321 349 670 (#BR/KFET—TH 7 10 12 22 |4THT 51 83 89 172 | TKE 27 46 43 89 |#REHT 23 32 48 80
FBIET 39 55 60 115 |E&RKFET=TH 57 86 102 188 |/ SERET 42 67 79 146 | £ KB 26 36 35 71 | EFKET 43 53 63 116
K IEET 42 Al 65 136 |#BRKFETMT B 29 37 38 75 | REFHET 62 82 73 155 | RiGET 1 17 16 33 | TEAHET 61 87 99 186
KA HT 140 | 237 222 459 |#83k B EHT 29 39 51 90 |t /RET 51 74 83 157 |hE 52 50 60 110 | EEAHT 44 58 69 127
e S BT 255 357 397 754 |ESSRMIX Bt 1542 | 1,986 | 2,187 | 4,173 [4EKHET 22 31 35 66 |SHOME 5 439 553 612 | 1,165 |FE{k BAT 34 59 52 11
St AT 75 109 120 229 | A1EHT 233 348 379 727 | B AEEH 296 399 424 823 =VERHE 55 92 11 203
SEnET 242 318 347 665 |/INMIET 182 243 269 512 [ REHET 150 210 228 438 SATTR LT 45 70 79 149
HEHET 303 419 454 873 [BA%X=TH 154 211 201 412 #BRE B HT 199 282 285 567 UN:ia 520 5 5 6 11
e S#THET 16 17 23 40 |/NINETET 80 109 126 235 |RHAFTET 150 224 212 436 JATHEE 17 23 15 38
EEFH 129 224 215 439 | B {HFHET 232 348 369 717 | b/ 4ERERET 10 20 14 34 St 5t 954 | 1,368 | 1517 2,885
BEEFR 114 183 201 384 |BASRTIL/E 43 53 64 117 |3+ O $rHT 51 84 91 175 =5 62 68 81 149
EEFH 117 198 188 386 (BABHETH/K 21 32 34 66 | %A HET 130 200 200 400 Fig 7 7 4 11
IREMX 3§ 1,994 | 2,873 | 3060 | 5933 |BAEETHF 48 76 72 148 |ZB/BIHOX 5 1592 ( 2310 | 2434 4744 R 78 96 116 212
EE1RE 54 77 75 152 |BA S BT #E /4t 33 53 56 109 ZR 34 29 49 78
EET2KX 47 56 81 137 | &/ KFHHET 26 39 36 75 |#SRithis § 7,792 | 11,081 | 11,541 | 22,622 w_-0O 24 22 23 45
EE3X 43 53 60 113 |BAS &8 84 141 131 272 g 8 7 6 13
EET4X 46 53 76 129 | EZBHT 49 76 72 148 Bra 1 2 1 3
EE5X 122 157 175 332 | T#HSHET 77 116 110 226 HFRHX 25 34 36 70
EET6X 132 177 180 357 |HEEHET 165 253 225 478 BOiE 3 239 265 316 581
EET7X 36 59 53 12 [FHRSEHET 218 327 300 627 Blg 273 375 376 751
EETSX 89 104 117 221 |RHF BT 240 322 313 635 2B 87 111 109 220
e~ 108 126 135 261 L& SHET 124 175 175 350 THER - - - -
ERT10R 224 288 316 604 |7a 7% SHET 24 33 31 64 BuEists 360 486 485 971
B 24 36 31 67 |hFRSHT 51 99 87 186

EET12K 132 223 203 426 | 5 2,084 [ 3,054 | 3050 | 6,104

EMIX 5t 1,057 | 1,409 | 1502 | 2911 =0 39,660 | 54,904 | 57,813 | 112,717
=)tttk 5t | 4637 6,298 | 6,813 | 13,111




